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1904 F(BAB37HR )R DFERH—E

7o /& R WER | =%
19044 BAA37%E Oi% R(7=2)
19034 BASA364F 1% | (D & X)
19024 BASA354F 2m% BH(E D)
19014 BRSA344F 3% B> L)
19004 BASA334F 45% | F(HRT H)
18994 BEA325F 5% |Z(\WDL L)
18984 BESA314 6% R\ ah)
18974 BASA304F 7% (&)
18964 BE3A294F 8% (X 3)
18954 BES428%F 9 | R(v2L)
18944 BRG27 5 10 | F (D F)
18934 BASR 264 115% B(~T)
18924 BASGR 254 127% =(7=2)
18914 BRA 245 13 | 91D & X))
18904 BRsA234F 145% | B(ED)
18894 BRSA224F 15% | B(OL)
18884 BRsA214F 16k% | F(RTH)
18874 BAS4204F 178% |Z(\WDL L)
18864 BAA194% 18m% (LN R)
18854 BASA 184 19%% | B(&Y)
18844 BRB175 20m% | H(Z D)
18834 BASA 164 21% | R(V2L)
18824 BEA 155 227% F(2F)
18814 BA 144 23 | B(~UY)
18804 BRE134 247% =(7=2)
18794 BAA12% 25 | ON(D & X))
18784 BESAT114E 26f% | HE(&D)
18774 BASA 104 27k | B(OL)
18764 BESA94E 28i% | F(RTH)
18754 BAA8H 29 |[Z(\WDL L)
18744 BRSA74E 30 | F(LW&B)
18734 BESA 645 31mk | BE(EY)
18724 BESA 54 32 | H(X D)
18714 BRAA%E 33 | R(V2L)
18704 BESA34 34k | F(OF)
18694 BESA24F 35k | B(~ND)
18684 BRSATTE 36m | R(%=2)

19045 D+=% : F(1=D)
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